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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 f&=m ram wAE = (Problem Figure) =i=r & 3cat ==t (Answer Figures) &

T O v & wiefea 3 38 3ca¥ =9 (Answer Figure) &1 gg=iel il Question ID : 9864494106
Status : Answered

Chosen Option : 4
Problem Figure

Answer Figures

AP

Problem Figure - TaTar &9

Answer Figure - 3cat ==

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Answer Figures

AP

Ans ch
XD
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X 3B
v A
2
O gfg A=(—14+4)ARB =414, TAB= Question ID : 9864492544
If A= (-14+4) and B=4—14,hen AB = Status : Answered
) Chosen Option :1
Ans X 1.100
# 2.-100
V30
K a1
Q.3 8 sot =t &y gt ¥l & dr &= For #r AE (Bl ) R=rghm
‘What is the angle between the two hands of a clock when the time shown by the clock is 8 Question ID :9864492494
p-m.2(in degrees) Status : Answered
Ans X 1. 240 Chosen Option :2
W2 120
X< 3. 60
#5450
Q.4 wgrrrt F #teg daret Fr fmer AT frwer ATEE W9 3o T THAr )
9 Question ID : 9864493066
The vast amount of sea weeds present in oceans may produce an endless source of: Status : Answered
Chosen Option :1
Ans ) m
v
Methane
 , TETETR ardr F=r
Ocean thermal energy
- HER #gT Far
< 3
Sea wave energy
o SRR FAT
< 4
Nuclear energy
.5 ﬁm ¥
Q Eﬁ Eﬂ 31_1', Question ID :9864492779
Status : Answered
78 +[{27 + (—18 + —2)} -4 + (-3)] =? Chosen Option :3
Solve the following.
78 - [—4+(-3)of {27 +(—18 + —-2)}] =7
Ans ‘{ 1 —6
X 2.13
K36
X 4156
.6
Q6 7 3ty og #ﬁanw:gwmﬂﬁm Question ID : 9864492625
. . Status : Marked For Review
Find the mean proportional between 2 and 98? Chosen Option :3
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Ans X 1.13 .
< 2145
<316
v 14

7 4624 FT FNHA fFaeT B

The square root of 4624 is:
Ans X172

Question ID :9864492903
Status : Answered
Chosen Option : 4

X 266
X 3. 64
v 68

Q.8 faEaw, 2017 # fieeh W& & #AET A= 5 ¥0 # ¢ fagea o mr 22

‘Who has been appointed as the Chief Secretary of the Delhi Government in December
20172

Ans 31311(—{ m‘
<1

Question ID :9864492435
Status : Answered
Chosen Option : 3

Ajeet Vasant
379 eRTr
o °
Anshu Prakash
, sfeea =9ir

Aditya Negi

x

o HTRIET TS
Akansha Ranjan

Q9 H,0; +Cly > 2HC1 + Oy HHTHIT A, H0, TorHF 9 & FI FLarg?
In the reaction H20; +Cly —» 2HCI1 + Oy, H205 acts as:

A o T IFT

Question ID : 9864493130
Status : Answered

Chosen Option : 2

an acid

Teh HTFHTRN
an oxidising agent
Teh HIA R

a reducing agent
Teh &Y

a base

< 2.

v &)

<4

Q10 T FANMHR WA T &TTHT 196 T HIET & FHAT Fedeh 3T hT TS &
The area of the square field is 196 sq.m. Its each side is:

Ans 16 FreT

Question ID : 9864492440
Status : Answered
Chosen Option : 3

<1
16 m

17 #Frex
17m

< 2.
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vz 14 #reT

14 m

13 #leT

13m

QL 71y =T ggem FHRIoT, FEs 9 gey S@idr & Question ID : 9864493340

The first equation of motion gives the relation between: Status : Answered

Chosen Option :1
e, Tl AR AT i
position and time
| Tt Sl &
position and velocity
|3 3R wA
velocity and time
, 97 HR =T

velocity and acceleration

U2 g T F T Ireir Fﬁ' H’I?ﬁ-'l' ?Iﬁ'l Question ID : 9864493729

Status : Answered

<4

x

v

x

Chosen Option : 4

Problem Figure

Answer Figures

A B C D
Choose the correct figure to fill in the blank space.

Problem Figure

Answer Figures
i Kile
A B C D
Ans 21D
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X2C
< 3B
v A

Q13 LT F T2l T 39T fohaaT 1T 2 Question ID : 9864493204

The velocity of light in vacuum is: Status : Answered
Chosen Option : 1
Ans o 13 % 10%ms™!
# 2.2 x 10%ms?
X 3.3 x107ms™*
X 4.3 x 10°ms?

Q.14 A and B fHl #1F &1 12 & # (0 & & £l A @ &0 T 8 & 50
feet w@er R oI OsT 3R S FROT F FE H QW A H 16 e 79 1wy
T T AT FT F 2 A T W R STt T AT F TH T T Status : Marked For Review
foheer 21 8ol A F 9T =l T ar? Chosen Option :3

A and B can complete a task in 12 days. However, A had to leave a few days before the
task was completed and hence it took 16 days in all to complete the task. If A alone could
complete the work in 21 days, how many days before the work getting over did A leave?

Ans «17
X5
7”39
X3
Q15 fot # ¥ forw omdr & g9 & 7 FcAwTHT Jrde TH I IS

forg 272

‘Which of the following sportspersons recently wrote the autobiographical book ‘Ace
Against Odds*? Chosen Option :4

Ans x 1 ST AgaTe
Saina Nehwal

) i gﬁ?r
Anil Kumble
T g

3.

Yuvraj Singh

v arferar =T

Sania Mirza

Question ID :9864492889

Question ID : 9864492383
Status : Marked For Review

x

~x

Q.16 yRifiy gy dfefiaiar CIH(HRast 2018 TH) & HWH B 2
‘Who is the captain of the Indian men’s volleyball team as of February 20187

Question ID :9864492390

Status : Marked For Review

Ans $ W Chosen Option : 4
S
K Udayakumar

| Tiaeiid Rig

Navjit Singh

x
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5, OISR AW

GR Vaishnav
v & J ﬁf{

Gurinder Singh

Q17 Frurey # 3mfaa 2017 Afgen g i 9 o Shar ar

Who won the 2017 Women’s Hockey Asia Cup held in Japan?

Question ID :9864492249
Status : Marked For Review

Ans X ;ﬁ;r Chosen Option : 4
1.
China

HLT
India
STHTed
J apan

X4_a‘|i’rwa;‘lﬁ'm

South Korea

v &)

53

Q.18 [z A, B 31 C v @il &R A o3 gU 1 Ygdl & 959 sarer: 4 3R 10
Hqe A SR B 9T TR ¢ St will g R T e 9IS T 6 He
arell & f@ar andr ¥ afg wef fiet 9= Efr @ 375 9T HY g W v Status : Not Answered
e @ S 8, ol Tl @ A & foiw e 9e 1 e Chosen Option : --

Pipes A, B and C are attached to an empty cistern. While the first two can fill the cistern in
4 and 10 hours, respectively, the third can drain the cistern, when filled, m 6 hours. If all
the three pipes are opened simultaneously when the cistern 1s three-fifth full, how many
hours will be needed to fill the cistern?

Ans Xl. E

11

X222

11

X2

11

vt

11

Question ID : 9864493032

Q.19 Fwam 833749502 # ‘4’ 3R 2 F TURNT AT F IR &
The difference between the place values of ‘4° and ‘2’ in the number 833749502 is:

Ans < 1. 49998

Question ID :9864494340
Status : Answered

Chosen Option : 4

< 2. 30098
« 339098
v 2. 39998
Q20 ey H ¥ HiT AT TF =T ollged dod Hﬁ %7 Question ID :9864493613
Which one of the following is not a borderline element? Status : Answered
Chosen Option :4

Ans x_l. m

Boron
&2 arforehlet

Silicon
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* 5 greiagd (Polonium)

Polonium

iCr==tly
Bismuth

v

Q.21 ¥ e &1 ot fAfia a1 #F a9 & SR 9 g 17 ¢ 7 o SEie _
e § ST & 3T 4 - 3 o AT g A Oy @ g & Wied Question ID :9864492925
FHH: aﬁmaﬁ«—dﬂraarr? ) Status : Answered

In an alloy of German silver the ratio of copper to zinc was 17 - 7 while that of nickel to Chosen Option :3

zine was 4 © 3. The ratio of copper to zinc to nickel in the alloy was:

Ans X117 :21: 4
v 251:21:28
<368:28:21
K 417:28:3

Q.22 I weieuit x + 2y — 8 = 0 HR 2x + 4y = 16 3 512 F goll 1 AT E:

The number of solutions of the pair of linear equations x + 2y —8 = 0 and 2x + 4y = 16is Question ID : 9864492515

Status : Answered
Ans ( 1.0 Chosen Option : 1

K21

HAd
Infinitely many
K42

< 3.

Q.23 FiF W AT el THEEA AT GE H INH WA T () _
A F WA FAT W 2 Question ID : 9864492388
Which Indian stock exchange is planning to launch its own Initial Public Offering (IPO)? Status : Marked For Review

=) & Chosen Option : 4
Ans % g =o WiF TFEES (THHUHS) P
1.

Saurashtra Kutch Stock Exchange (SKSE)
X TR T TFHS (TATHS)
National Stock Exchange (NSE)
5 FrelleT Tl THFES (HTas)
Cochin Stock Exchange (CoSE)
. 915 T THEeT (fTHs)
Bombay Stock Exchange (BSE)

v

x

x

Q2 uey TR iTlT:l:; IEEEIRED 3alagduT %: Question ID :9864493171

Status : Answered

An alloy 1s an example of:
Ans x IR ECRC D
Colloidal solution

< 2.

Emulsion

Chosen Option : 3
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v O RECDE
Solid solution

ICIELCRE:E I

< 4
Heterogeneous mixture
Q25 fygg TT H HE® ECI'JEI:?E' faFeT 97 | Question ID : 9864493461
Status : Answered
et Fr o= ETHQ'T gy fReiT Tt % Chosen Option :1

Fill in the blank with the most appropriate option.

The pitch of a sound depends on its

v ]

frequency

T e
wavelength
HIEH

< 3.
amplitude

x o

timbre

< 2

Q.26 Iy dier & ug A, ol B & Sfawuriia & g aig A [
e % 2 Question ID : 9864493612
If Metal A displaces Metal B from its solution, then Metal A Status : Answered

Ans ‘, . B Eﬁ' HF-F'“' ;}r 3"[@3‘7 mﬂﬁ % Chosen Option : 1

is more reactive than B

B #1 g # &H wiafemarda &

is less reactive than B

B & Joel H o &

is heavier than B

B #r oRE ¥ THEA & wiatsar &

< 2.

< 3.

<4
has the same reactivity as B
Q27 fAFA T T &, Question ID : 9864492739
Status : Answered
60 -5x%x(16—-8+2)+3 =7 Chosen Option :1
Solve the following:

60 -5x(16—-8+2)+3=?
Ans X1 3

v 2 48

~< 31
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X4.E
3

Q.28 I 2017 & AW & U5 Fhwel el & HEUeS & ¥ # HAT 7201 fomar
-l

Who took charge as the Chief Minister of Goa after the 2017 elections?

Question ID :9864492297
Status : Answered

Chosen Option : 2

Ans T
Xl.mma‘q\

Bharat Vir Wanchoo
¥ &3 E
Manohar Parrikar

, =Iferer rerAT3r
Churchill Alemao

4.mﬁaaﬁm

Dayanand Narvekar

x

x

Q.29 TF=afaf@a sear = (Answer Figures) # @ HiF gaEar =7 (Problem

uestion ID : 9864494113
Figure) & @& Siar wfafams &2 Q

Status : Answered
Chosen Option :3

Problem Figure A

<) 8

Answer Figures

ot [ S3s

A B C D

Problem Figure - T&Em &g

Answer Figure - 30T ==
Select the correct mirror image of the Problem Figure from the given Answer Figures.

Problem Figure A

<o) b

Answer Figures

ot 1S3

A B C D
Ans X' 1 B
X2 A
vz C
<D
Q.30 (
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AT, A AT T I T AT 12 2 ¥ 7 TG TF IS 3 1 5 @A §| T WA
AT E:

Ages of Lalu and Balu are in the ratio of 1 : 2. After 7 years their ages ratio changes to 3 :
5. The elder person age is:

Question ID : 9864492565
Status : Marked For Review
Chosen Option : 4

Ans X 1 32
< 224
< 320
W28

Q3! T gAAT H AT FT TS 2T 8-
In sexual reproduction a parent contributes:

Question ID : 9864493518
Status : Answered
Chosen Option : 1

Ans v IS S| @ e G
Half of their genes
. HIA ST & e =g e
Three-fourth of their genes
| Tl ST
All the genes

4.3ﬂﬁrsh?r$rwﬁzrr§%m

One-fourth of their genes

x

x

x

Q32 40 HE=T 9rea i F faT, msga:‘rﬁm@{,mn%mmaﬁw

To get number 40.the number 6% should be multiplied with

Question ID : 9864492622
Status : Answered
Chosen Option : 4

Ans «1.?3
5

XZ. 3;

3

XS. ?E
3
<46

Q.33 37 fameT F1 797 F{ =7 o7 By & T e & o v ¥ e g
2l

Question ID :9864494377
Status : Answered
Chosen Option : 1

32

Select the option that will correctly fit in the blank space in the following figure.
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Ans

Q34 Qrafaf@a & W Fia T Fua AT F1= & T Irara gem

Which one of the following statements would be INCORRECT to use?

"Amoleofa compound

Teh dod =hl Ueh YLHIUT
< a 2

An atom of an element

Question ID : 9864493147
Status : Answered
Chosen Option : 2

Q.35

Ans

ceo i o s e 3?!3‘!?5[ Al HFA (regeneration and budding) ZaRT
TS FT T &2
‘Which of the following organisms can reproduce by regeneration and budding?

1 AR
Yeast
CATFAITSTH

Plasmodium

5 2.

Question ID : 9864493297
Status : Marked For Review

Chosen Option :1

Q.36

Ans

T, @r ¥ AW § galT e

¥ Fafoa B

‘Square’ is related to ‘Line’ in the same way as ‘Cube” is related to

Aad

Question ID : 9864493984
Status : Answered
Chosen Option : 2

1.
Rectangle

(2.31‘[

Square

Xs.ﬁg

Point
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X 4.

Circle

Q37 HehHUT dicd T Bid 87
What are transition elements?

Question ID :9864493414
Status : Marked For Review

Ans  of 1. Chosen Option 11

dg dcd, Tofeish ol e Jgd e 3 8id &
Elements whose two outermost shells are incomplete

&2
ag dcd, Tt engt 3 IR engat, et % o

Elements which possess properties of both, metals and non-metals

1A HaH AN AT A IS FelagleT g &

They have eight electrons in the outermost shell

~ 3

<4
g% dcd, foies il Gy gl A W 8ld &

Elements whose three outermost shells are mcomplete

Q.38 f=fafs 7w &t & 3N 37 W & 3eaw & A ragEn 7

Sales of Bikes in India as per the Colourin
2009

5%

5%

Question ID :9864494202
Status : Answered

30% Chosen Option : 1

20%

15%

20%
12 10% 10%
10% 8% ™
5%
Pl i I
"I |

Blue Green Golden Brown Black silver White Red Yellow

TfE 2009 F Arer-wRfEat Fr 1 F gEw Fr 7S Fo R 10000 o, T
T g A o T AeT-asiE Gee e = o @
Study the following graph and answer the question that follows.

Sales of Bikes in India as per the Colourin
2009

30%

15%

5%
5%
20%

0%

1% 10% 10%
10% 8% %

5%

Pl i [
. "I |

Blue Green Golden Brown Black silver White Red VYellow

If the total number of bikes sold in 2009 was 10000 how many more yellow bikes were
sold than green ones?

Ans  of 1200
# 22000
# 3.1000
#2800

Q-39 feges T, Afa= Far 31T FTENFT
Mechanical energy is the combination of kinetic energy and
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Ans Xl‘mm‘r

Heat energy

| TEfeteR St
Chemical energy

v feufas s
Potential energy

TTHT] ST

~x

b !

Nuclear energy

l Chosen Option : 3

Q.40 Tr=afafEa & ¥ o= aftass = 37 oo &7 o1 § s fent &5 g
gt &7

Which of the following is the main thinking part of the human brain?

Ans
g ATETSH
P

Hind- brain
A&
Cerebellum
qey ATETSH
Mid-brain
T AfETSH

Fore-brain

< 2.

5 3

v

Question ID :9864493276
Status : Answered

Chosen Option : 2

_—— =

Q.41 2w =T FeFgedr & B AT Y = 3T 7w v = B e & (@) Ty
Tt H TEHHI T A AT (FIA B) F E

qFded:
T B &aar &1 W ST aaar

o

1. Fo wied T £

2. o oha B #
Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
Some angels are gods.
All living being are gods.

Conclusions:

1. Some angels are living beings.
2. Some living being are angels.

Ans v 3R 2 A=t FETT A& F 2
Nether 1 nor 2 follows.

- Fae Ty 2 HFEIT FHLT B

Only conclusion 2 follows.

Question ID : 9864493951
Status : Answered

Chosen Option : 3
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|1 3T 2 A JregETor F €

Both 1 and 2 follow.
- Facr frsey 1 3TEIT FIT ¢

Only conclusion 1 follows.

x

Q42 37 faweT & waa & & & 713 agfa # Fege #F ¥& @i g Question ID : 9864494061

Status : Marked For Review

Chosen Option : 4

Select the option that represents the number of triangles in the given figure is.

ans o 110
X28
X311
<49

Q43 oi% #e 1 E?Flé o = 5= s g & Question ID :9864493765

The area of a square is equal to its side, if the side is 1 unit. Status : Answered

Ans Eﬁ@" Chosen Option :1
v

Always
Faifl-pefT
Sometimes
HFHT
Often
ek

MNever

Q4 gry 7 graffie T 39T FT AT G 82 Question ID : 9864493475

Status : Answered

<2

~ 3

Which of the following is the primary sex organ in man?

Ans El’ﬂ%t
<1
Prostrate
v 3 )
Testis
o o, T 3B

Vas deferens
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) T gﬁmr

Seminal vesicles

x

Q.45 2017 & YT IRAT 3T 390 ‘2= Bre f 7Y F ows #a §2

‘Who is the author of the Indian English Novel *When Dimple Met Rishi’ published in
20172

Question ID : 9864492181
Status : Answered

Chosen Option : 4

Ans ECCIEC
r
Chetan Bhagat

x o, TR e
Rahul Mehta

v e AT
Sandhya Menon

, ICIR GG
Nidhi Chanani

x

Q.46 faeT & waw a2 w W & T T, ‘=0 & {07 A1d & g IF #
oo &2

One of the largest salt deserts in the world, the ‘Rann of Kutch’ is primarily located in
which state of India?

Question ID : 9864492138
Status : Answered

Chosen Option : 2

Ans HET geor
<1
Madhya Pradesh

v

Gujarat
<3

Telangana

o,

Assam

Qa7 aeg Fom # 7T 79 ¥ 97, FEn, w9 ik e @
The architecture mainly consists Chaityas, Viharas, Stupas and Stambhas.

Ans Xl. ;ﬁﬁ-

Question ID : 9864492099
Status : Answered

Chosen Option :1

Maurya

Q.48 ¥ FANTH = gar H T 1T § O i @1 AT seeT @ & 2

‘Which compound is formed when a Magnesium ribbon is burnt in air?

Question ID : 9864493389
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Ans m ;'13?3 Status : Marked For Review
1.

~ Chosen Option : 4
Magnesium Nitrate
x5 HeAfTT FEfae
Magnesium Carbonate
HATTT HeaEs
i Magnesium Oxide
- HefrT arserss
Magnesium Nitride

QA =AF 2 +ax + b W AT x + 3V RerGa Far Ir ar aw - 1 wreq
e g R =TAF 22 + bx + o 9 x- 3 W TenieT B Sar oA 9w 39
9oT T $l @ + b A ¥ Status : Answered

Ifx* + ax + b, when divided by x + 3, leaves aremainder of — 1 and x* + bx + a, Chosen Option :1
when divided by x — 3, leaves a remainder of 39, thena + b=7?

Ans X1 _ 14
X2 - 38
V14
< 438

Question ID : 9864492696

Q0 I VUR M UWH seat s XU ot St U V&
If V is the brother of U, U is the sister of W and X is the husband of U, then U is V’s
. Chosen Option : 2

Question ID : 9864493832
Status : Answered

e, ST A g g3/ A€ a5

Aunt
RG]

v
Sister
| #Atel amefl/ |l ST Saer

~<

Sister-in-law
x o

Mother

Q.51
Question ID :9864493743

Status : Answered

Chosen Option : 1
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@ o Fue i @9 Ad ge a8 vt wRe B see ARea w9 @ a9
e gu i & forsad frarer ST e E

FYU:
el TE reoT dedard gl
FooaTs BN 81 g1

s
1. & AIRAR T Sedar
2. i @R &

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Dhoni is a good batsman.

Batsmen are smart.
Conclusions:

1. All smart people are batsmen
2. Dhoni is smart.

v Faer forsHy 2 TTHIOT FT 8
Only conclusion 2 follows
- Facl folsawy 1 TEOT T 8
Only conclusion 1 follows
1 3R 2 aat JieEReT X §

Both 1 and 2 follow
<4

Far 13T & 2 3EIT FAT T

Neither 1 nor 2 follows

x

Q.52

Ans

RB75E%M3W48Qo#B2ASMS
FR U 3g%A # 90 OR ¥ aNgs HEN $ g% AT W de B O F
2

RB75E%M3W48Q9#B2ASMS
In the above sequence which term is third to the right of the twelfth term from the left
end?

X1
VB
X3 A
X2

Question ID : 9864493813
Status : Answered

Chosen Option : 4

Q.53

Question ID :9864494117
Status : Answered
Chosen Option : 4
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T R I T Y T AT §U AT AT FL R FUS F R W AT A@
Ty s &9 & feer o F@ehar 2l

FUT:
Tt arer =fer 31 @ <fer 9efr &

reay:

1. & Tl a1 g1
2 55 @ W

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

Some eagles are kites. All kites are birds.

Conclusions:

1. Some birds are eagles.
2. Some eagles are birds.

<1
o dr ey 1 3l & ey 2 regEver w g

Neither 1 nor 2 follows.

fos forss 1 3rgERor e gl
Only conclusion 1 follows.
. % oy 2 3gEor T 7
| Only conclusion 2 follows.
, T 1 Fur 2 g sieeRer €
Both 1 and 2 follow.

5 2

v

x

Q.54 TFEr FugsT &1 HTUR 38& WA 8196 a6 HAAT Tgel= & 3T & 3T

2l Trre B Il & amuRl F Helew FAsdl @ A w2 gEm?

The base of a triangle is half the base of a parallelogram having the same area as that of
the triangle. The ratio of the corresponding heights of the triangle to the parallelogram will
be:

Question ID :9864492795
Status : Answered

Chosen Option :3

Ans X 1.1:4
o411
K321
< 4a1:2

Q.55

Question ID : 9864494025
Status : Not Answered
Chosen Option :--
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et 3R 3o g Sl W e afee # g §

| o | i@ | 9| R | 3e
ur
1 A | 40 |37| 35 | 27
2 | B | 6 [28] 78 | s6
3 | c| 8|71 4 | 21
4 | D| 1 ]72] 3 |11
fow a1w st % MUK W, I3 AT 3FAGART B FT FE;w gl

Parties and the seats won by them are listed in the following table.

S.No | Part | Sout | East | West | North
¥ h

A 40 37 35 27
B 6 26 76 86
83 71 4 21
D 1 7 3 11

FNEFI S
0

Based on the given data, the total number of candidates elected is
ans  of 1 534
X 2524
X 3.535
< 4.543

Q56 Rr it ma R R H I AT s F T Fsem S R = T

T @ T g ¥ Question ID :9864494127

| Status : Answered

Chosen Option : 3

Ffy X 7 sfagm, s 3k fea & staasr 50 3 9a frar o fae= &
3% fraw 3% wrd g

FUA:
1. 3HeT sfaera sy s & aftEa s 25 @
2. 38 s # 30 3% 9T gul

Consider the given question and decide which of the following statements is sufficient to
answer the question.

If X scored an average of 50 marks in History, Language and Science, how much did he
score in Science?

Statements:

1. His average score in History and Language is 25.
2. He got 30 marks in Language.

Ans X1
FUT 1 AT FUF 2 AT & 3 F 92T T 3cal &4 H HEIH 2
Both 1 and 2 are sufficient to answer the given question.
< 2.
FUF 2 3T & TR F W HF 3cal & A WAH § e FUS 1 HbaT &
3 & W H 3eal & H HWETH LT gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

W3
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FeT 1 mﬂﬁ»ﬂé‘rm#mﬂﬂﬁtﬁﬁﬁm%qﬁmzma
I F U9 H Ied? o H TEIH A 2

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

~X 4.
AT dF se 1 3T &7 & HUA 2 3T & 9T T el & A HEH gl

Neither 1 nor 2 is sufficient to answer the given question.

Q.57

Ans

f&T 71T FEfa A & AR T AT M I Question ID : 9864494180

Status : Answered

Chosen Option :3

@ : Bunch:: : 7

Bunch - §=

Select the missing term based on the given related pair.

? : Bunch:: =

v Fellet
Flock
3t
Army

<4

Q58

Ans

T AT 9afEr 0T 5 %3 T o F 3 I§ F 9T gieT I HTLNOT == 2
5,250 &1 WA 37 & fore ey i 7EE 2X W S 9A0iEr F awglfy s
e e

Simple interest on a certain sum of money for 3 years at 5% per annum is ¥ 5250.What

Question ID : 9864492606
Status : Marked For Review

Chosen Option :3

will be the compound interest on that sum at the same rate for the same period?

< 1.¥5,510.88
v 2 35516.88
< 3%5512.88
< 4 T5517.88

Q.59

Question ID : 9864493644
Status : Answered

Chosen Option :1
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o 9 W =R #Y 3t 37 T % 30% U o ST o sEuRen T 37

o

A T &

FEUROT:

1. el HiFaT
2. 3T HEHA B
Consider the argument and decide which of the given assumptions is/are implicit.

Argument

Today is Sunday

Assumption

1.  Tomorrow is Monday.
2. Today is a holiday.

Ans » I AT 1 THET ¢

Only assumption 1 follows

IS AT 2 THEIT ¢
2.

Only assumption 2 follows

oo T AT AT 7 & 2 TFEIT B
Neither 1 and 2 follows
X4.13ﬂ12 3t FREeT & |

Both 1 and 2 follows

x

Q.60 77 AFeT & =7 &t = T BT F =g o= ¥ T8 & @)

o ] A

Question ID : 9864494008
Status : Answered
Chosen Option : 4

o B
R Y

|
ICET==]

[T

A B C D
Select the option that will correctly fit in the blank space in the following figure.

Ll | 1

Q61 (
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frfof@a Fau &t v & v s9ged a= M@ &1 79 Hil Question ID : 9864494285

Status : Answered

Chosen Option : 1

8, AgRTSE AT e
Select the most suitable Venn diagram to represent the following relationship.

India, Maharashtra and Kerala
Ans
WL
5 2.
&3
x©
62 } &
Q62 geaAfRE ST g Hel HPHid H I F| l Question ID ;9864493879

| Status : Answered

Chosen Option : 2

]/x*?

b i

A B C D
Choose the correct figure that replaces the question mark.

)
8

FiE I
| X

=%
C D

Ans

X< [F
> 0w |
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T &

Ans X"
<
<
v

Q.63 X =mEr =T afaoT & I 30 Fraier A §, ¥R aifes Az 30
foreiafier @ o= & are aff A FEeT @ 20 fareiefer smar § 3t g
AT R B 30 Torclieier oer #1 X e R T & 3 et g

X drives 30 km south, then turns right and drives 30 km, then turns left and drives 20 km
and then turns left and drives 30 km. How far is X from his/her initial position?

1. 20 faenateT
2.30 fFairAET
3. 60 fRelTAET
4+ 50 farentdieT

Question ID : 9864494137
Status : Answered

Chosen Option :4

Ans of
<
<
<

Q.64 e &t AT it eTaT T B AT & et AT | Hrel o WA 5 A 4 &5 e
60 A ATeEr Tt §| g e s Ty ar e s s were B, v s gt
T el S ATEr S 5H & TeleAT gt |
Sita’s bucket has thrice the capacity as Ramu’s bucket . It takes 60 turns for Sita’s bucket

to fill the empty drum. How many turns it will take for both the buckets of Sita’s and \—
Ramu’s, having each turn together to fill the empty drum?

145
2. 40
3. 50
4. 30

Question ID :9864492632
Status : Answered

Chosen Option :1

~x

v

x

Q.65 =g d% & TEeR & T H AT FRAFE FACA g & A, TIFd T
AR (USA) F i I Preafieare & o oo & fed & 9ihee & &9
#F HIHR Tl §?
After his stint as the Reserve Bank Governor, which University in USA did Raghuram
Rajan join as professor of Finance?

Ans - gas foeaa =, aieea
Harvard Business School, Boston

| ATehel gTH, Hfermrfera
Berkeley Haas, California

T T, f
3.

Booth School, Chicago
4.

Columbia Business School, New York

Question ID : 9864492264
Status : Answered
Chosen Option : 4

Ans

x

x

Q66 JMeaTeRy guuT A Ufafdfed Wag & &g H FAT Fgr Jar &

The centre of the reflecting surface of a spherical mirror is called the:

Bar

1.
radius

_ @hT I G oA

centre of curvature

Question ID : 9864493283
Status : Answered

Chosen Option : 2
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Q.67 T[T AT HT A= H 3 I[AT chall § FH1H el § 3T T HIH T T et 7 T _ .
AT fordr e Ay Rt A e & 40 Rt o A 1 AR A e A A Question ID :9864492509
farger et & @ 1T AT & =R Status : Answered

Surya works 3 times as fast as Ramya and is able to complete a work in 40 days less than Chosen Option :1

the number of days taken by Ramya. Find the time in which they can complete the work
together.

Ans
x, 20 o=

20 days

15 fe&=r
15 days

25 f&=r
25 days

30 fea
30 days

v &)

< 3.

< a

Q68 ‘MA_T' T 3T« HeT %’: Question ID : 9864493913

The missing letter in the word ‘MA T is: Status : Answered
" Chosen Option :1
v 1R
K2C
X3P
<40

Q.69 ¥z ZEW At H @ et & T s af s G mr are
‘Which of the following branches of mathematics was invented by Newton?

Ans  _ F[OTAT
1.
Calculus
x> GCo
Logic
b )
Algebra
ST At
Geometry

Ans

Question ID :9864493599
Status : Answered
Chosen Option :3

X 4

Q.70 F=fafEd A @ #la & d=nfae « g IARG Foi & S smevor / gfaedor ]
e e e i Ol Question ID : 9864493405

Which of the following scientists gave the law that governs the force of Status : Answered
attraction/repulsion between two charged particles? Chosen Option : 4

Ans
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1ﬂ1?\‘£f§eﬁ

~
Charles Dufay
5 2 :
Michael Faraday
< 3. SRS
Archimedes
. ey Hag
v =
Charles Coulomb

Q.71 o & #, wea Forg(?) gar 2T 710 3Er, v 3eT seareud gl
few aw fomedt & & FgaftuT aw &7 =97 w1

Question ID : 9864494296
Status : Answered

Chosen Option :1

N, L, J, H?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given options.

N,L,J,H?
Ans « 1. F
X2G
X 3E
<+B

Q72 (2,14,16), (3,21,24), (8, 56,64), (5, 35, 41)
T B S Rl TEg ® ey AL WA §, 9

Question ID :9864493865
Status : Answered

Chosen Option : 1

(2,14,16), (3,21,24), (8, 56,64), (5, 35, 41)
The set that does NOT belong to the group is:

Ans o 1 (5, 35, 41)
X 2.(2,14,16)
< 3.(3,21,24)
X+ (8, 56,64)

Q.73 7 #Hiex 39 Tl wiewid & o & et #1 3o o7 30° o7 Al efat 4
I S g8 5043 AT 81 dl cler 1 clars faaen ofi?

From the top of a platform 7 m high, the angle of elevation of a tower was 30 ? If the
platform was positioned 50v/3 m away from the tower, how tall was the tower?

Question ID : 9864492998
Status : Answered

Chosen Option :2

Ans
1 57 #HIeX
57m

x> 50 #Hiex
50m

(25V3 + 7) AT
< 3.

(253 + 7)m
v 2543 #HIcT

25v3m
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Q.74 v FFgd o ToES R Fr Few Fwdr FAg & G g, H AT
TE RIS % ARG & IO gl o aur 3 e & st & g &=
L

The volume of a right circular cone, with a base radius the same as its altitude, and the
volume of a hemisphere are equal. The ratio of the radii of the cone to the hemisphere is:

Question ID :9864492654
Status : Answered

Chosen Option :3

A X12.1
XZ-\E:l
v 321
X4-3f§:3fﬁ

7S Pafef@a & ¥ &9 91 & ga1aT 27

Which one of the following is a cation?

Question ID :9864493528
Status : Answered

Chosen Option : 1

Ans Xl-a:mﬁt

Carbonate
x 2 ST
Nitrate
FAI=TH
Armmonium

Hydroxide

W3

p !
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